HeneHue

MaTtemaTurKa 5 Knacc



CuynTtaem yCTHO:

50 + 40 = 6/ -23 = 30+ 70 =
: 30 = 11 = : 10 =
- 50 = .+ 25 = - 15 =

- 100 = 19 = - 150 =




CocTaBuUTb NPUMEPHDI:

MpraymMaTb NPMMEP U 3aJlaTb CBOMM
OJHOK/TACCHUKAM:




HaunTtm yacTtHoe:

a) 28220 : 83 = 6) 105009 : 493
B) 105009 : 493 r) 595200 : 2400

CocTaBbTe BblparKeHue A4
3aa4M:

PakeTta nponetena 3a t MMHYT 23380 KM. C KaKkoM
CKOPOCTbIO SIeTeNla pakeTa?




PaboTta ¢ y4ebHMKOM:

Ne 481 (B, r), 492, 496, 509




[lomallHee 3agaHue:

Ne 521, 525, 527 (a)




